C:# Stellenwert untersuchen Name:

Bestimme, welche Auswahl die Frage korrekt beantwortet. Antworten
1) Which choice has adigit in the billionsplace 2) Which choice has adigit in the ten millions

that is exactly twice the value of the digit in place that is exactly twice the value of the digit 1

the zehnern place? in the billions place?

A. 4.968 A. 6.958.372 2.

B. 9.317 B. 6.348.915

C.9.675 C. 2.176.954 3.

D. 1.429 D. 6.941.837

4,

3) Which choice has adigit in the hunderten 4) Which choice has adigit in the einern place

place that is exactly twice the value of the that is exactly three times the value of the digit >

digit in the zehnern place? in the tausenden place?

A.38.625 A.6.392.481 6.

B. 68.441 B. 3.496.758

C.91.758 C.5.647.128 7.

D. 65.812 D.9.121.343

8.

5) Which choice has a digit in the zehnern 6) Which choice has adigit in the hunderten place 9

place that is exactly three times the value of that is exactly three times the value of the digit '

the digit in the billions place? in the zehnern place?

A. 6.267 A.919.536 10.

B. 1.458 B. 186.357

C.9.127 C. 234.916

D. 6.857 D. 648.197
7) Which choice has adigit intheten millions  8) Which choice has adigit in the hunderten place

place that is exactly four times the value of that is exactly four times the value of the digit

the digit in the billions place? in the billions place?

A.2.157.634 A.8.614

B. 8.321.647 B. 8.251

C. 4.849.126 C.9.538

D. 9.861.354 D. 2518
9) Which choice has adigit in the zehnern 10) Which choice has a digit in the einern place

place that is exactly five times the value of that is exactly six times the value of the digit in

the digit in the einern place? the zehnern place?

A. 236 A. 9.562.384

B. 451 B. 5.243.916

C.918 C. 8.431.259

D. 389 D. 1.763.284
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